
 

 

 ـ  1  

(25 − 14/2) ÷ 4 = 10/8 ÷ 4 = 2/7  

 (14/28 + 26 − 18/2) × 1/40 = 22/08 × 1/4 = 30/912 

 ـ   2 

2/05
−2/005

0/0495
 

 کیلوگرم    5=   5000گرم ـ 3 

500

5000
=

1

10
 

 ـ 4 

2.4 ÷ 4 = 0.6     ضلع  مربع  0.6 × 0.6 =  مساحت  مربع  0.36

 ـ   5 

2/3
7/4 
2    

+6/001

17/701

           

19/107
−17/701

01/406
 

×ـ   6  0.001 = 0.1           = 100 

 ـ  7  

15 ÷ 4 = 3.75             یک ضلع   3.75 × 3.75 =          مساحت  14.0625

 ـ 8 

7 × 10 +
1
10

+ 3 ×
1

100
= 70 + 0.1 + 0.03 = 70.13 

 

 



 

 

 ـ  9

4 ÷ 2 = 2                      شعاع 2 × 2 = × شعاع  4 × شعاع عدد  پی  = 12.56 

 ـ   10 

5/2 × 1000 = 5200 

0/08 ÷ 0/02 =
8

100
×

100
2

= 4 

4/32 × 10 =
432
100

× 10 = 43.2 

4/8 ÷ 1/2 =
48
10

×
10
12

= 4 

 ـ   11 

5/031 <  5/31 

4 + 0/5 >  4
5
25

 

4 + 0/6 <  7 − 0/3 

4
3
5

 =  4/60 

 ـ 12 

182/3
13
52
52
0

|
13

14/023
 0.0001 باقی  مانده

 ـ   13 

32040 × 10 |
35/6 × 10

              
320400
3204

…

|
356
90  90 کتاب    



 

 

 ـ 14 

40×
1
2
+30/4

20÷0/8+15
=  

20+30/4

25+15
=

50/4

40
= 1/26  

 ـ   15 

20 × 0/0675 + 16 × 0/0675 + 1/9 + 0/3 = 1/35 + 1/08 + 0/57 = 3  

(1000/10 ÷ 1000) − (0/001 ÷ 10) = 1/0001 − 0/0001 = 1 

 

 

 

 

 

 

  

 

 

  

 


